UNIVERSITY OF THE WEST INDIES

DEPARTMENT OF MANAGEMENT STUDIES

MS15D Tutorial 3

Suggested Solutions

Question 1
	Problem C.2, page 1114
	Problem C–2
Equity movements


	a.
	Additional investment $20,000 [$50,000 (ending capital stock balance) ( $30,000 (beginning capital stock balance)].

	b.
	Net income $30,000 [$200,000 (ending retained earnings balance) ( $180,000 (beginning retained earnings balance) + $10,000 (dividends)].

	c.
	The $200,000 represents the amount of the corporation’s earnings that have accumu​lated (not been distributed to the stockholders) since the corporation was formed.


Question 2
Problem C.3, page 1114
	
	Problem C–3
DIVISION OF PARTNERSHIP INCOME


	*
	
	Guenther
	Firmin
	Net Income

	
	Net income to be divided

	
	
	
$
247,000

	
	Salary allowances to partners

	
$
80,000
	
$
60,000
	

(140,000)

	
	Income after salary allowances

	
	
	
$
107,000

	
	Interest allowances on beginning capital:
	
	
	

	
	
	Guenther ($100,000 ( 15%)

	

15,000
	
	

	
	
	Firmin ($80,000 ( 15%)

	
	

12,000
	

	
	
	
	Total allocated as interest


	
	
	

(27,000)

	
	Remaining income after salaries and interest

	
	
	
$
80,000

	
	Allocated in a fixed ratio:
	
	
	

	
	
	Guenther (60%)

	

48,000
	
	

	
	
	Firmin (40%)

	


	

32,000
	

(80,000)

	
	Total share to each partner
	
$
143,000
	
$
104,000
	
$
-0-


	Question 3
Problem C.6, page 1115
30 Minutes, Medium
	Problem C–6

Frontier Western wear, inc.
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General Journal

 

2001

Jan

15

 Cash

8

0

0

0

0

0

Capital Stock

8

0

0

0

0

0

 Issued 40,000 shares of capital stock at $20 per share.

Dec

31

 Income Taxes Expense

4

8

0

0

0

Income Taxes Payable

4

8

0

0

0

 To accrue the income taxes for the year ($120,000 

´

 40%).

31

 Income Summary

4

8

0

0

0

Income Taxes Expense

4

8

0

0

0

 To close the Income Taxes Expense account.

 b.

 

2002

Mar

15

 Dividends

2

0

0

0

0

Dividends Payable

2

0

0

0

0

 Declared a dividend of $0.50 per share, payable April 15

 ($0.50 

´

 40,000 shares 

=

 $20,000).

Apr 

15

 Dividends Payable

2

0

0

0

0

 

Cash

2

0

0

0

0

 To record payment of dividend declared March 15.

 c.

2002

Dec

31

 Retained Earnings

1

8

0

0

0

Income Summary

1

8

0

0

0

 To close the Income Summary account for a period with a

 net loss.

31

 Retained Earnings

2

0

0

0

0

Dividends

2

0

0

0

0

 To close Dividends into Retained Earnings.


	
	Problem C–6

Frontier western wear, inc. (concluded) 
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FRONTIER WESTERN WEAR, INC.

Partial Balance Sheet

December 31, 2002

 Stockholders’ equity:

 

Capital stock

$

8

0

0

0

0

0

Retained earnings (computation below)

 

3

4

0

0

0

 Total stockholders’ equity

$

8

3

4

0

0

0

 Computation of retained earnings at December 31, 2002:

 Income before income taxes—2001

$

1

2

0

0

0

0

 Less: Income taxes expense

4

8

0

0

0

 Retained earnings, December 31, 2001

 

$

7

2

0

0

0

 Less: Dividends

$

2

0

0

0

0

 Less: Net loss for 2002

1

8

0

0

0

3

8

0

0

0

 Retained earnings, December 31, 2002

$

3

4

0

0

0


	Question 4 

Problem C.8, page 1116
45 Minutes, Strong
	Problem C–8

California eyeshades
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General Journal

(1)

 

Nov

9

 Cash

1

5

0

0

0

Turner, Capital

1

5

0

0

0

 To record additional investment by owner.

15

 Turner, Drawing

1

5

0

0

Cash

1

5

0

0

 To record withdrawal from business.

30

 Turner, Drawing

1

5

0

0

Cash

1

5

0

0

 To record withdrawal from business.

30

 Turner, Drawing

1

0

0

0

Cash

1

0

0

0

 To record withdrawal from business.

(2)

30

 Turner, Capital

4

0

0

0

Turner, Drawing

4

0

0

0

 To close the owner's Drawing account.

30

 Income Summary

5

0

0

0

Turner, Capital

5

0

0

0

 To close the Income Summary account to the Owner’s

 Capital account.

 b.

(1)

Nov

9

 Cash

1

5

0

0

0

Capital Stock

1

5

0

0

0

 To record additional investment by owner.

15

 Salaries Expense

1

5

0

0

Cash

1

5

0

0

 To record salary to Turner.

20

 Dividends

1

0

0

0

 Dividends Payable

1

0

0

0

 To record declaration of a dividend payable on November 30.


	
	Problem C–8

california eyeshades (concluded)





	c.
	The net income differs for two reasons. First, the corporation is subject to income taxes, and this is an expense that is not included in the accounts of the sole proprietorship. Second, payments for services to Turner are considered to be salaries expense when the business is organized as a cor​poration. When the business is organized as a sole proprietorship, the payments are considered to be withdrawals by the owner.


Question 5
Exercise 6.12 – Comparison of Inventory Systems – Page 252
	
	a.
	
	
	

	
	
	Cash

	117,000
	

	
	
	
	Sales

	
	117,000

	
	
	To record sale of telescope to Central State University for cash.
	
	

	
	
	Cost of Goods Sold

	90,000
	

	
	
	
	Inventory

	
	90,000

	
	
	To record cost of telescope sold to Central State University.
	
	

	
	
	Inventory

	50,000
	

	
	
	
	Accounts Payable (Lunar Optics)

	
	50,000

	
	
	To record purchase of merchandise on account from Lunar Optics, net 30 days.
	
	

	
	
	
	
	

	
	b.
	Computation of inventory at January 7:
	
	

	
	
	   Inventory at Dec. 31

	
	$250,000

	
	
	   Deduct: Cost of goods sold

	
	(90,000)

	
	
	   Add: Cost of merchandise purchased

	
	    50,000

	
	
	   Inventory at Jan. 7

	
	$210,000

	
	
	
	
	

	
	c.
	Cash

	117,000
	

	
	
	
	Sales

	
	117,000

	
	
	To record sale of telescope to Central State University for cash.
	
	

	
	
	Purchases

	50,000
	

	
	
	
	Accounts Payable (Lunar Optics)

	
	50,000

	
	
	To record purchase of merchandise on account from Lunar Optics. Terms, net 30 days.
	
	

	
	
	
	
	

	
	d.
	Cost of goods sold:
	
	

	
	
	   Inventory, Jan. 1

	
	$250,000

	
	
	   Purchases

	
	    50,000

	
	
	   Cost of goods available for sale

	
	$300,000

	
	
	   Less: Inventory, Jan. 7 (per part b)

	
	  210,000

	
	
	      Cost of goods sold

	
	$  90,000


	e.
	This solution is very subjective, what do you think ?


Question 6
Exercise 6.13 – Periodic Inventory System – Page 252
	a.
	Computation of the cost of goods sold:
	

	
	
	Beginning inventory

	
$
6,240

	
	
	Add: Purchases

	

74,400

	
	
	Cost of goods available for sale

	
$
80,640

	
	
	Less: Ending inventory

	

4,560

	
	
	Cost of goods sold


	
$
76,080


	b.
	Mountain Mabel’s appears to be a very small business that probably has no external reporting obligations (other than in the owners’ annual income tax return). Also, “management” seems to consist of the owners, who may be in the store every day and therefore do not need an inventory ledger to know what merchandise is in inventory. In a situation such as this, the additional record—keeping required to maintain a perpetual inventory system simply may not be worthwhile.

	c.
	A larger business, such as a Sears store, needs to have up-to-date information as to the cost and quantity of merchandise in inventory and also the cost of goods sold. This information is used in quarterly reports to stockholders, reports to corporate management, and monthly reports measuring the profitability of the individual sales departments. In addition, information about the quantities of specific products sold and the quantities currently on hand is needed for such daily decisions as: (1) when to reorder specific products, (2) how much merchandise to order, and (3) which products to advertise in special sales.

	
	Also, a store such as Sears uses point-of-sale terminals to simplify the processing of sales transactions. These terminals permit the maintenance of perpetual inventory records at very little cost and with no special effort required of accounting personnel.


	Question 7

35 Minutes, Medium
	problem 6–2

OFFICE SOLUTIONS
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General Journal

 

 

May

10

 Inventory

1

5

0

0

Accounts Payable (Mitsui Corporation)

1

5

0

0

 Purchased five P-500 fax machines @ $300; payment

 due in 30 days.

23

 Accounts Receivable (Foster & Cole)

2

0

0

0

Sales

2

0

0

0

 Sold four Mitsui P-500 fax machines on account. Sales price

 $500 per machine; payment due in 30 days.

23

 Cost of Goods Sold

1

2

0

0

Inventory

1

2

0

0

 To adjust inventory records for the cost of four P-500 fax

 machines sold to Foster & Cole ($300 x 4

 = $1,200).

24

 Inventory

2

1

0

0

Accounts Payable (Mitsui Corporation)

2

1

0

0

 Purchased seven P-500 fax machines @ $300; payment due

 in 30 days.

June

9

 Accounts Payable (Mitsui Corporation)

1

5

0

0

Cash

1

5

0

0

 Paid Mitsui Corporation for purchase on May 10.

19

 Cash

1

0

5

0

Sales

1

0

5

0

 Sold two P-500 fax machines for cash; sales price,

 $525 each.

19

 Cost of Goods Sold

 

6

0

0

Inventory

 

6

0

0

 To record cost of two P-500 fax machines sold

 ($300 x 2 = $

600).

22

 Cash

2

0

0

0

Accounts Receivable (Foster & Cole)

2

0

0

0

 Collected account receivable from sale on May 23.

 

 



problem 6–2

OFFICE SOLUTIONS (continued)

b.


[image: image5.wmf]     Item

     Item

                                  Mitsui P-500 fax machine                        

          Primary supplier

                         Mitsui Corporation                           

     Description

     Description

                        Plain paper fax machine                        

          Secondary supplier

                                   None                                    

     Location

         1 in showroom, remainder in warehouse          

          Inventory level: Minimum 

         1          

       Maximum

          10          

PURCHASED

SOLD

BALANCE

Unit

Unit

Unit

Date

Units

Cost

Total

Units

Cost

Total

Units

Cost

Balance

May

10

5

$300

$1,500

5

$300

$1,500

23

4

$300

$1,200

1

300

300

24

7

300

2,100

8

300

2,400

June

19

2

300

600

6

300

1,800
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	problem 6–2

OFFICE SOLUTIONS (concluded)

	c.
	Eight. The quantity of units on hand at any date may be determined from the inventory subsidiary ledger.

	d.
	An inventory subsidiary ledger indicates the quantities, unit costs, and total costs of the units of product purchased, sold, and currently on hand. In addition, the subsidiary ledger accounts usually indicate the location of units in stock, the minimum and maximum quantities desired in inventory, and the names of the major suppliers. Management uses this information to determine which products are selling quickly and which are selling slowly and in setting sales prices. Accounting personnel use the unit cost data in recording the cost of goods sold. Sales personnel refer to this ledger to determine the quantities and location of goods on hand. Employees responsible for purchasing merchandise use the data in this ledger to determine when specific products should be reordered, the quantities to order, and the names of the principal suppliers.


	Question 8

30 Minutes, Medium
	problem 6–4

LAMPRINO APPLIANCE



[image: image6.wmf] a.

General Journal

Date

 

(1)

 

June

10

 Inventory

2

9

4

0

Accounts Payable (Mitsu Industries)

2

9

4

0

 To record purchase of 10 TVs at net cost of $294 per unit

 ($300, less 2%).

15

 Cash

4

5

0

Sales

4

5

0

 Sold 1 Mitsu TV for cash.

15

 Cost of Goods Sold

2

9

4

Inventory

2

9

4

 To record cost of TV sold.

20

 Accounts Payable (Mitsu Industries)

2

9

4

0

Cash

2

9

4

0

 Paid account within discount period.

(2)

June

10

 

 Inventory

3

0

0

0

Accounts Payable (Mitsu Industries)

3

0

0

0

 To record purchase of 10 TVs at gross invoice price

 ($300 per unit).

15

 Cash

4

5

0

Sales

4

5

0

 Sold 1 Mitsu TV for cash.

15

 Cost of Goods Sold

3

0

0

Inventory

3

0

0

 To record cost of TV sold.

20

 Accounts Payable (Mitsu Industries)

3

0

0

0

Cash

2

9

4

0

Purchase Discounts Taken

6

0

 Paid account payable, less 2%.

b.

(1)

 

July

10

 Accounts Payable (Mitsu Industries)

2

9

4

0

 Purchase Discounts Lost

6

0

Cash

3

0

0

0

 Made payment after discount period had expired.

(2)

July

10

 Accounts Payable (Mitsu Industries)

3

0

0

0

Cash

3

0

0

0

 Made payment after discount period had expired.

 


	
	problem 6–4

LAMPRINO APPLIANCE (concluded)

	c.
	The net cost method provides more useful information for evaluating the company’s efficiency in paying its bills. This method clearly indicates the lowest price that the company may pay, and separately records any additional costs incurred as purchase discounts lost.

	
	Under the gross price method, the liability is not recorded at the lowest price at which it can be settled. Hence, management is not made aware of available discounts that were not taken.


	Question 9

40 Minutes, Strong
	Problem 6–6

CPI


Parts a, c, g, and h follow; parts b, d, e, and f are on the next page.

	a.
	The operating cycle of a merchandising company consists of purchasing merchandise, selling that merchandise to customers (often on account), and collecting the sales proceeds from these customers. The assets and liabilities involved in this cycle include cash, accounts receivable, inventory, and accounts payable.

	c.
	In the January 2 entry, the $24,250 debit to the Inventory controlling account should be allocated among—and posted to—the appropriate product accounts in the inventory subsidiary ledger. The information posted should include the cost and quantities of each type of merchandise purchased. In addition, the credit portion of this entry should be posted to the Sharp account in CPI’s accounts payable subsidiary ledger.

	
	In the first entry on January 6, the debit to the Accounts Receivable controlling account should be posted to the Pace Corporation account in CPI’s accounts receivable ledger.

	
	In the final entry, the credit to the Inventory controlling account should be allocated among the thirty products sold and posted to the appropriate accounts in the inventory ledger.

	g.
	CPI probably would use a perpetual inventory system. The items in its inventory have a high per-unit cost. Therefore, management will want to know the costs of the individual products included in specific sales transactions, and also will want to keep track of the items in stock. The company also has a computer-based accounting system, a full-time accountant, and a low volume of transactions. This combination of factors eliminates the potential difficulties of maintaining a perpetual system.

	h.
	Computation of profit margin on January 6 sales transaction:

	
	Gross profit
	=
	Sales price - Cost of goods sold

	
	
	=
	$10,000 ( $6,100

	
	
	=
	$3,900

	
	
	
	

	
	Gross profit margin
	=
	Dollar gross profit ( Sales revenue

	
	
	=
	$3,900 ( $10,000

	
	
	=
	39%
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General Journal

 

2002

 

Jan

2

 Inventory

2

4

2

5

0

Accounts Payable (Sharp)

2

4

2

5

0

 Purchased merchandise on account; terms, 3/10, n/60.

 Net cost, $25,000, less 3%.

6

 Accounts Receivable (Pace Corporation)

1

0

0

0

0

Sales

1

0

0

0

0

 Sale on account; terms, 5/10, n/90.

6

 Cost of Goods Sold

 

6

1

0

0

Inventory

 

6

1

0

0

 To record the cost of merchandise sold to Pace Corporation.

 d.

 Computation of inventory at January 6:

Inventory at Dec. 31, 2001

$

5

0

0

0

0

0

Add: Merchandise purchased on Jan. 2

2

4

2

5

0

Less: Cost of goods sold on Jan. 6

(

 

6

1

0

0

)

Inventory at close of business on Jan. 6

$

5

1

8

1

5

0

 e.

 Journal entries assuming use of a periodic system:

2002

Jan

2

 Purchases

2

4

2

5

0

Accounts Payable (Sharp)

2

4

2

5

0

 Purchased merchandise on account; terms, 3/10, n/60.

 Net cost, $25,000, less 3%.

6

 Accounts Receivable (Pace Corporation)

1

0

0

0

0

Sales

1

0

0

0

0

 Sale on account; terms, 5/10, n/90.

 f.

 Computation of cost of goods sold:

Inventory (Dec. 31, 2001)

$

5

0

0

0

0

0

Add: Purchases

2

4

2

5

0

Cost of goods available for sale

$

5

2

4

2

5

0

Less: Inventory (Jan. 6—per part 

d

)

5

1

8

1

5

0

Cost of goods sold

$

 

6

1

0

0
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General Journal

 

Nov

30.0

 Salaries Expense

Cash

 To record salary to Turner.

30.0

 Dividends Payable

Cash

 To record the payment of the dividend declared on

 November 30.

(2)

30.0

 Income Taxes Expense

Income Taxes Payable

 To accrue income taxes expense for November.

30.0

 Income Summary

Income Taxes Expense

 To close the Income Taxes Expense account into the Income

 Summary account.

30.0

 Income Summary

Retained Earnings

 To close the Income Summary account.

30.0

 Retained Earnings

Dividends

 To close the Dividends account.
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     Item

     Item

                                  Mitsui P-500 fax machine                        

          Primary supplier

                         Mitsui Corporation                           

     Description

     Description

                        Plain paper fax machine                        

          Secondary supplier

                                   None                                    

     Location

         1 in showroom, remainder in warehouse          

          10          

PURCHASED

SOLD

BALANCE

Unit

Unit

Unit

Date

Units

Cost

Total

Units

Cost

Total

Units

Cost

Balance

May

10

5

$300

$1,500

5

$300

$1,500

23

4

$300

$1,200

1

300

300

24

7

300

2,100

8

300

2,400

June

19

2

300

600

6

300

1,800
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 a.

General Journal

(1)

 

Nov

9.0

 Cash

Turner, Capital

 To record additional investment by owner.

15.0

 Turner, Drawing

Cash

 To record withdrawal from business.

30.0

 Turner, Drawing

Cash

 To record withdrawal from business.

30.0

 Turner, Drawing

Cash

 To record withdrawal from business.

(2)

30.0

 Turner, Capital

Turner, Drawing

 To close the owner's Drawing account.

30.0

 Income Summary

Turner, Capital

 To close the Income Summary account to the Owner’s

 Capital account.

 b.

(1)

Nov

9.0

 Cash

Capital Stock

 To record additional investment by owner.

15.0

 Salaries Expense

Cash

 To record salary to Turner.

20.0

 Dividends

 Dividends Payable

 To record declaration of a dividend payable on November 30.


